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S`Ƀ7mM; L2ixr2`F2 mM/ a+?�HimM;2M A
k9Xy3Xkyky

L�K2- oQ`M�K2, Jmbi2`K�MM- J�t

J�i`BF2HMmKK2`, yR@8e3@k3d

S`Ƀ7mM;b+Q/2, R8eRkjd

"2`Ƀ+FbB+?iB;2M aB2 7QH;2M/2 AM7Q`K�iBQM2M,
Ç "Bii2 H2;2M aB2 r ?`2M/ /2` S`Ƀ7mM; A?`2 1h>@E�`i2 UG2;BV ;mi bB+?i#�` �m7 /2M hBb+?-

/�KBi rB` A?`2 �Mr2b2M?2Bi T`Ƀ72M FƺMM2MX

Ç .B2 S`Ƀ7mM; Bbi 2BMb2BiB; #2/`m+Fi- FQMi`QHHB2`2M aB2 /B2 oQHHbi M/B;F2Bi Uke a2Bi2MV mM/
/B2 1BM?2BiHB+?F2Bi pQM J* o2`bBQM mM/ S`Ƀ7mM;b+Q/2 BM /2` 6mbbx2BH2 �m7 �HH2M "H ii2`MX

Ç a+?`2B#2M aB2 A?`2 �MirQ`i2M /B`2Fi mMi2`?�H# /2` �m7;�#2Mbi2HHmM;- bQHHi2M aB2 xm r2MB;
SH�ix ?�#2M /�`7 �m+? /B2 _Ƀ+Fb2Bi2 /2b D2r2BHB;2M "H�ii2b p2`r2M/2i r2`/2MX E2MMx2B+?@
M2M aB2 /B2b BM /2` D2r2BHB;2M h2BH�m7;�#2X

Ç "Bii2 #2Mmix2M aB2 F2BM2M "H2BbiB7i Ĝ bQM/2`M #H�m2 Q/2` b+?r�`x2 Em;2Hb+?`2B#2`fhBMi2
U/QFmK2Mi2M2+?iVX �m7 ;�` F2BM2M 6�HH _Qi Q/2` :`ɃMX

Ç a+?`2B#2M aB2 #Bii2 H2b2`HB+?X qB` FƺMM2M Mm` SmMFi2 ;2#2M 7Ƀ` 2BM/2miB; H2b#�`2bX

Ç .B2 >2`H2BimM; Kmbb FH�` 2`F2MM#�` b2BMX 1BM MmK2`Bb+?2b 1M/2`;2#MBb Q?M2 >2`H2BimM;
rB`/ MB+?i ;2r2`i2iX EQ``2Fi2 >2`H2BimM;2M r2`/2M �m+? /�MM TQbBiBp #2`Ƀ+FbB+?iB;i-
r2MM /�b MmK2`Bb+?2 1M/2`;2#MBb 7�Hb+? b2BM bQHHi2X .2}MB2`2M aB2 �HH2 p2`r2M/2i2M o�@
`B�#H2M mM/ p2`2BM7�+?2M aB2 /B2 _2bmHi�i2 bQr2Bi rB2 Kƺ;HB+?X

Ç aB2 bBM/ p2`�MirQ`iHB+?- /�bb �HH2 "H ii2` �#;2;2#2M bBM/X G2;2M aB2 /B2b2 /�xm �K 1M/2
/2` S`Ƀ7mM; BM /2M lKb+?H�; mM/ FH2#2M aB2 /B2b2M xmX aT i2`2 L�+?`2B+?mM;2M r2`/2M
MB+?i #2`Ƀ+FbB+?iB;iX .B2 �m7;�#2Mbi2HHmM; BMFHmbBp2 A?`2` �MirQ`i2M Kmbb �K 1M/2 /2`
S`Ƀ7mM; FQKTH2ii �#;2;2#2M r2`/2MX

Ç 2`H�m#i2 >BH7bKBii2H, h2ti#m+? �H#�+? 1H2Fi`Qi2+?MBF- MB+?i@T`Q;`�KKB2`#�`2` h�b+?2M@
`2+?M2`- qƺ`i2`#Ƀ+?2`- 6Q`K2Hb�KKHmM; UK�tX k a2Bi2M �9 4 R "H�iiV �GG1a Q?M2
LQiBx2M xm ɂ#mM;2M mM/ �Hi2M EH�mbm`2MX

Ç h2BH�m7;�#2M r2H+?2 KBi tV௡ K�`FB2`i bBM/ FƺMM2M mM�#? M;B; pQM2BM�M/2` ;2Hƺbi r2`@
/2MX

Ç "2B /2M o2`bi M/MBb7`�;2M Bbi 7Ƀ` D2/2 h2BH7`�;2 ;2M�m 2BM2 �MirQ`i `B+?iB;X J�`FB2`2M
aB2 /B2b2 2BM/2miB; �m7 /2K �MirQ`i#H�iiX "2B aBM;H2@*?QB+2 6`�;2M Ua*V Bbi ;2M�m
2BM2 �MirQ`i `B+?iB;- Bbi K2?` �Hb 2BM2 Q/2` F2BM2 �MirQ`i K�`FB2`i ;B#i 2b LmHH SmMFi2X
"2B FS`BK2 6`�;2M UFSV Bbi BM D2/2K 6�HH `B+?iB; Q/2` 7�Hb+? xm K�`FB2`2MX .B2 pQHH2
SmMFix�?H ;B#i 2b /�#2B #2B 9 FQ``2Fi2M �mbb�;2M- #2B j FQ``2Fi2M �mbb�;2M ;B#i 2b /B2
?�H#2 SmMFix�?H mM/ #2B k Q/2` r2MB;2` LmHH SmMFi2X

R8eRkjd J* o2`bBQM A R
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S`Ƀ7mM; L2ixr2`F2 mM/ a+?�HimM;2M A
k9Xy3Xkyky

L�K2- oQ`M�K2,

J�i`BF2HMmKK2`,

S`Ƀ7mM;b+Q/2, R8eRkjd

RX EQ``X oBbX kX EQ``X oBbX

�m7;�#2 R UkRV � � � �
�m7;�#2 k UR3V � � � �
�m7;�#2 j URdV � � � �
�m7;�#2 9 UReV � � � �
�m7;�#2 8 URyV � � � �
�m7;�#2 e U3V � � � �
1M/bmKK2 UNyV � �

EH�mbm`MQi2 , � �
"QMmb , � �
1M/MQi2 , � �
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�m7;�#2 R, �MirQ`i#H�ii o2`bi M/MBb7`�;2M
6Ƀ` D2/2 6`�;2 Bbi ;2M�m 2BM2 �MirQ`i `B+?iB;X J�`FB2`2M aB2 /B2b2 2BM/2miB;X "2B aBM;H2@
*?QB+2 6`�;2M Ua*V Bbi ;2M�m 2BM2 �MirQ`i `B+?iB;- Bbi K2?` �Hb 2BM2 Q/2` F2BM2 �MirQ`i
K�`FB2`i ;B#i 2b LmHH SmMFi2X "2B FS`BK2 6`�;2M UFSV Bbi BM D2/2K 6�HH `B+?iB; Q/2` 7�Hb+?
xm K�`FB2`2MX .B2 pQHH2 SmMFix�?H ;B#i 2b /�#2B #2B 9 FQ``2Fi2M �mbb�;2M- #2B j FQ``2Fi2M
�mbb�;2M ;B#i 2b /B2 ?�H#2 SmMFix�?H mM/ #2B k Q/2` r2MB;2` LmHH SmMFi2X

RX � " * .
kX � " * .
jX � " * .
9X � " * .
8X � " * .
eX � " * .
dX � " * .
3X � " * .
NX � " * .

RyX � " * .
RRX � " * .
RkX � " * .
RjX � " * .
R9X � " * .
R8X � " * .
ReX � " * .
RdX � " * .
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o2`bi M/MBb7`�;2M
6Ƀ` D2/2 h2BH7`�;2 Bbi ;2M�m 2BM2 �MirQ`i `B+?iB;X J�`FB2`2M aB2 /B2b2 2BM/2miB; �m7 /2K
�MirQ`i#H�iiX "2B aBM;H2@*?QB+2 6`�;2M Ua*V Bbi ;2M�m 2BM2 �MirQ`i `B+?iB;- Bbi K2?` �Hb 2BM2
Q/2` F2BM2 �MirQ`i K�`FB2`i ;B#i 2b LmHH SmMFi2X "2B FS`BK2 6`�;2M UFSV Bbi BM D2/2K 6�HH
`B+?iB; Q/2` 7�Hb+? xm K�`FB2`2MX .B2 pQHH2 SmMFix�?H ;B#i 2b /�#2B #2B 9 FQ``2Fi2M �mbb�;2M-
#2B j FQ``2Fi2M �mbb�;2M ;B#i 2b /B2 ?�H#2 SmMFix�?H mM/ #2B k Q/2` r2MB;2` LmHH SmMFi2X

Uk SXV FS Ĝ q2H+?2 /2` 7QH;2M/2M �mbb�;2M xmK "2;`Bz 1H2Fi`QHvb2 biBKK2M\

RX 1b rB`/ 2BM2 2H2Fi`Bb+?2 aT�MMmM; �M 2BM2 6HɃbbB;F2Bi2M �M;2H2;i mM/ /B2 AQM2M
b�KK2HM bB+? xrBb+?2M /2M 1H2Fi`Q/2MX

U�V _B+?iB; U"V 6�Hb+?
kX JBi 1H2Fi`QHvb2 FƺMM2M J2i�HH2 �mb ;22B;M2i2M 6HɃbbB;F2Bi2M ;2rQMM2M r2`/2MX

U�V _B+?iB; U"V 6�Hb+?
jX .B2 J2M;2 /2b ;2rQMM2M J�i2`B�Hb Bbi T`QTQ`iBQM�H xm` 1H2Fi`Q/2M;`ƺbb2X

U�V _B+?iB; U"V 6�Hb+?
9X .B2 J2M;2 /2b ;2rQMM2M J�i2`B�Hb Bbi T`QTQ`iBQM�H xm` ai`QKbi `F2X

U�V _B+?iB; U"V 6�Hb+?

Uj SXV a* Ĝ 1BM EmT72`[m�/2` Ryy KK t R8y KK t ky KK bQHH y�R8 KK /B+F p2`MB+F2Hi r2`/2MX
"2`2+?M2M aB2 rB2 H�M;2 /�b o2`MB+F2HM /�m2`i- r2MM /2` ai`QK Ӿ � k � #2i` ;iX U.�i2M 7Ƀ`
LB+F2H, .B+?i2, ᅻ � 3�N ;

+Kj - �iQK;2rB+?i Ӷ֍ � �����- q2`iB;F2Bi ԩ � �- a+?K2HxTmMFi, R988 ੋ*-
bT2xX q `K2F�T�xBi i, 999 C

F; E mM/ 2H2Fi`Bb+?2 G2Bi7 ?B;F2Bi, ᅴ � RjN Ka
+K V

8X .�b o2`MB+F2HM /�m2`i,

U�V Rk�k ? U"V k9�9 ? U*V Rkk ? U.V k99 ?

R8eRkjd J* o2`bBQM A 9
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Uj SXV a* Ĝ :2;2#2M b2B2M xr2B ;2FQTT2Hi2 ai`QKb+?H2B72M BM 2BM2` 1#2M2 mM/ B?`2 6HɃbb2 ;2K bb
/2` 7QH;2M/2M �##BH/mM;X .B2 ai`QKb+?H2B72M b2B2M /�#2B �Hb rB/2`bi�M/bHQb �MxmM2?K2MX

Ԥφ
Ԙφ

ဈφφ ဈφϵ
Ԥϵ

Ԙϵ

ဈϵφ ဈϵϵ
eX q2H+?2b :H2B+?mM;bbvbi2K #2b+?`2B#i /B2 ;2;2#2M2 �MQ`/MmM;\

U�V Ԥφ � �ԁφφ /քȯ
/֏ � ԁφϵ /քɞ

/֏ 
 Ԥϵ � ਷ԁϵφ /քȯ
/֏ ਷ ԁϵϵ /քɞ

/֏
U"V Ԥφ � �ԁφφ /քȯ

/֏ � ԁφϵ /քɞ
/֏ 
 Ԥϵ � �ԁϵφ /քȯ

/֏ � ԁϵϵ /քɞ
/֏

U*V Ԥφ � ਷ԁφφ /քȯ
/֏ ਷ ԁφϵ /քɞ

/֏ 
 Ԥϵ � �ԁϵφ /քȯ
/֏ � ԁϵϵ /քɞ

/֏
U.V Ԥφ � �ԁφφ /քȯ

/֏ ਷ ԁφϵ /քɞ
/֏ 
 Ԥϵ � �ԁϵφ /քȯ

/֏ ਷ ԁϵϵ /քɞ
/֏

R8eRkjd J* o2`bBQM A 8
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Alle Flüsse rechtshändig mit dem

erzeugenden Strom verknüpft
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Uk SXV a* Ĝ :2;2#2M b2B2M xr2B J�i2`B�HB2M KBi mMi2`b+?B2/HB+?2M `2H�iBp2M S2`KBiBpBi i2M ᆃ`R
mM/ ᆃ`kX .2` ɂ#2`;�M; b2B H�/mM;b7`2B mM/ 2b ;2Hi2 ᆃ`R � ᆃ`kX

U�Vᆃ`R ᆃ`k

ӺφӺܙ ֏φ

Ӻ։φ
Ӻϵܙ

Ӻ։ϵ � Ӻ։φ Ӻ ֏ϵ�Ӻ
֏φ

ᅬᅫ
U#Vᆃ`R ᆃ`k

ӺφӺܙ ֏φ

Ӻ։φ
Ӻϵܙ

Ӻ։ϵ � Ӻ։φ Ӻ ֏ϵ�Ӻ
֏φᅬᅫ

U+V
ᆃ`R ᆃ`k

ӺφӺܙ ֏φ

Ӻ։φ
Ӻϵܙ

Ӻ։ϵ � Ӻ։φ Ӻ ֏ϵ�Ӻ
֏φ

ᅬ ᅫ
U/V

ᆃ`R ᆃ`k

ӺφӺܙ ֏φ Ӻ։φ
Ӻϵܙ

Ӻ։ϵ � Ӻ։φ Ӻ ֏ϵ�Ӻ
֏φ

ᅬ ᅫ

dX q2H+?2` 62H/p2`H�m7 Bbi FQ``2Fi ;2x2B+?M2i\

U�V U"V U*V U.V

R8eRkjd J* o2`bBQM A e
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Uj SXV FS Ĝ :2;2#2M b2B2M /B2 7QH;2M/2M EQM/2Mb�iQ`M2ixr2`F2X "2i`�+?i2i rB`/ ?B2`#2B /B2
:2b�KiF�T�xBi i Ӹ�" xrBb+?2M /2M EH2KK2M � mM/ "X

U�V

"

�

Ӹ
Ӹ
Ӹ
Ӹ

U#V

"

�

դΚ

դϵ
դΚ

դϵ

U+V

"

�

�Ӹ
�Ӹ
դϵ

U/V

"

�

Ӹ
Ӹ

Ӹ
ӸӸ Ӹ

"2r2`i2M aB2 /B2 7QH;2M/2M �mbb�;2M,

3X .B2 L2ixr2`F2 U�V mM/ U+V r2Bb2M /B2 ;H2B+?2 :2b�KiF�T�xBi i Ӹ�" �m7

U�V _B+?iB; U"V 6�Hb+?

NX .B2 L2ixr2`F2 U+V mM/ U/V r2Bb2M /B2 ;H2B+?2 :2b�KiF�T�xBi i Ӹ�" �m7

U�V _B+?iB; U"V 6�Hb+?

RyX .B2 L2ixr2`F2 U�V mM/ U#V r2Bb2M /B2 ;H2B+?2 :2b�KiF�T�xBi i Ӹ�" �m7

U�V _B+?iB; U"V 6�Hb+?

RRX .B2 L2ixr2`F2 U#V mM/ U/V r2Bb2M /B2 ;H2B+?2 :2b�KiF�T�xBi i Ӹ�" �m7

U�V _B+?iB; U"V 6�Hb+?

Uk SXV a* Ĝ wr2B B/2MiBb+?2 mM/ B/2�H H2Bi2M/2 Em;2HM- 2BM2 KBi 2BM2` �M7�M;bH�/mM; �Ԡ mM/
/B2 �M/2`2 �M7�M;b mM;2H�/2M- r2`/2M BM EQMi�Fi ;2#`�+?iX

RkX qB2 ;`Qbb Bbi /B2 G�/mM; �Mb+?HB2bb2M/ �m7 D2/2` /2` #2B/2M Em;2HM\

U�V .B2 G�/mM;bp2`i2BHmM;  M/2`i bB+? MB+?iX
U"V .B2 Em;2H KBi /2` �M7�M;bH�/mM; �Ԡ #2? Hi /B2b2 G�/mM; mM/ /B2 �M/2`2

Em;2H ?�i /B2 G�/mM; ਷ԠX
U*V "2B/2 #2bBix2M 2BM2 G�/mM; pQM ֌ϵ
U.V .B2 Em;2H KBi /2` �M7�M;bH�/mM; �Ԡ ?�i /B2 G�/mM; ֌ϵ mM/ /B2 �M/2`2 Em;2H

?�i /B2 G�/mM; ਷֌ϵ X

R8eRkjd J* o2`bBQM A d
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Uj SXV a* Ĝ :2;2#2M b2B /�b 7QH;2M/2 .BQ/2MM2ixr2`F KBi /2M B/2�H2M .BQ/2M ӹφ mM/ ӹϵX 1b
;2Hi2 /�#2B � � Ԋ[ � Ӿ[ ੁ ԇX

Ӿ[

ӹϵ
ԇԊ[

ӹφ

RjX q2H+?2 .BQ/2UMV H2Bi2M\

U�V E2BM2 U"V Lm` ӹφ U*V Lm` ӹϵ U.V "2B/2

Uj SXV FS Ĝ q2H+?2 �mbb�;2M xmK _2HmFi�MxKQ/2HH bBM/ xmi`2z2M/,

R9X EmT72` ?�i BK o2`;H2B+? KBi 1Bb2M 2BM2M ?Q?2M K�;M2iBb+?2M qB/2`bi�M/X

U�V _B+?iB; U"V 6�Hb+?
R8X .2` K�;M2iBb+?2 qB/2`bi�M/ Bbi mK;2F2?`i T`QTQ`iBQM�H xm` S2`K2�#BHBi iX

U�V _B+?iB; U"V 6�Hb+?
ReX .�b _2HmFi�MxKQ/2HH ;BHi MB+?i 7Ƀ` h`�Mb7Q`K�iQ`2M KBi K2?` �Hb xr2B qBM/mM;b@

Fƺ`T2`MX

U�V _B+?iB; U"V 6�Hb+?
RdX .�b K�;M2iBb+?2 _2HmFi�MxKQ/2HH Bbi ;`mM/b ixHB+? p2`b+?B2/2M xmK 2H2Fi`Bb+?2M

ai`QKF`2BbX

U�V _B+?iB; U"V 6�Hb+?

R8eRkjd J* o2`bBQM A 3
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S`Ƀ7mM;
L2ixr2`F2 mM/ a+?�HimM;2M A

kkd@yyyR@yyG

�m7;�#2 k, 1H2Fi`Bb+?2b 62H/ mK SmMFiH�/mM;2M
UR3 SXV :2;2#2M bBM/ /`2B ;H2B+?2- TQbBiBp2 SmMFiH�/mM;2M UԆφ � Ԇϵ � ԆϯV BK o�FmmKX .B2
�MQ`/MmM; /2` SmMFH�/mM;2M 2MibT`B+?i �##BH/mM; RX

ԧ

Ԩ
Ԇφ Ԇϵ

Ԇϯԑ
਷Ԑ

�

Ԑ

�##BH/mM; R, SmMFiH�/mM;2M BK o�FmmK

�V௡ Uj SXV aFBxxB2`2M aB2 BM �##BH/mM; R /B2 2H2Fi`Bb+?2M 62H/HBMB2M UL�?@ mM/ 62`M72H/VX

R8eRkjd J* o2`bBQM A N
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#V௡ Uk SXV w2B+?M2M aB2 BM �##BH/mM; R 2BM2 1`b�ixH�/mM; 2BM- r2H+?2 2BM B/2MiBb+?2b 62`M72H/
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